Y sensitivity according to CIELAB
log[(dY/Y) = log(3 (Y "3/116) - (1/3) logY)

application
range

log (L*) LABJND lightness log (0,1* gg) log (L*/L* ) normalized LABJND lightness
CIELAB lightness log (L*) log (L*gs/ L*gs5.0)
1" LABIND and CIELAB lightness L normalized CIELAB lightness
L*gs= (Va) In [1+b (Y/Yy)] log (L* / L*)
a=0,3411 t=88,23 1/a=258,6 b=¥,=6,14 LABJIND and CIELAB lightness
ol 10 L =116 WYY -16 {,=100, 1< Y < 100) o Lres=Wa)in[1+b vy
9 85,508 Y,=18 a=0,3411 t=88,23 t/a=258,6 b=a=6,14
log(L* g5)=1,70 m,=0,43 1 L* =116 /Y, *® - 16 1,=100, 1< Y < 100)
Ao : * 65,7508 Y,=18
| mm— iogl(L" 85)/(L* 5,170, m=0,4 | —
application , application
' range y range
1
o 0,1 1 10 ,Y,=18100y —1 0,1 10 'Y,=18100y
- -1 0 1 2 logl ~2 -1 0 1 2 log(¥)
EE320-1A EE320-2A
log AY CIE tristimulus value difference log(AY/AY,) XIE tristimulus vaIKe difference
10AY, and A\, Y normalized toAY,,
NG HABIND CIELAS AYIAY,  for LABIND and CIELAB
L* =116 1Y) 3 - 1 L* =116 ¢/Y,) "% - 16
tristimulus value difference according to CIELAB tristimulus value difference according to CIELAB
log(dY)= log( 3 (¥,/116) ) + (2/3) log{/Y,,) log(dY) = log( 3 (Y,/116) ) + (2/3) log{/Yy,)
1410 Y 1410 1
= log(3(v, /116 + (2/3) logy) = 1og(3(Y,/3/116) + (2/3) logy)
o M= 2 Mu=
¢, 0,86 0,86
8, dY,=0,83 dY,/Y,=0,045
log(dY)=0,82,m,=0,66 application application
m,.=0,85 ' range , range
L 0,1 10 .Y =18100y —1 10 'Y,=18100y
- -1 0 1 2 logl ~2 -1 0 1 2 log(v)
EE320-3A EE320-4A
log (AY/Y) CIE Y sensitivity log [(AY/Y) I (AY/Yy)] CIEY sensmvgy
1 and normalized to AY,/Y,
S(:(AY/Y) 0S’,LABJND Sr,CIELAB

SIS=AYMIAYJYY) | ABIND & CIELAB

Y sensitivity according to CIELAB
log(@Y/)/(dY,/Y,)] = log(¥/Y,) ™3
10

m,.=-0,14 —
u P application
range

Y contrast according to CIELAB

log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(V/Y,)

= log[(1/3) (1161, 23] + (1/3) log(y)

M= Iog[(dY/YY(dY WYW)1=0 -0,13
2 -013 ¥,=18, dY,=0,83 dY,/Y,=0,045
. 0.1 1 10 'v,=18100y o 0.1 1 10 1Y,=18100y
- -1 0 1 2 logl -2 -1 0 1 2 log(v)
EE320-5A EE320-6A
log (Y/AY) CIE Y contrast log [(Y/AY) / (Y/AY,)]  CIE Y contrast A
normalized to Y /AY,
Gy 0Cruamano AN Ccieng CHlC=(YIBY)/(Y,/AY)LABIND & CIELAB"

Y contrast according to CIELAB
log[(Y/IAY)I(Y/AY,)] = log(Y/Yy)
L*,=50, Y,=18, dY,=0,83

13
10

L* =50, Y,=18, dY,=0,83 Y,/dY,=21
L Josl(IdYy (VY. )=

application application
range m,_=0,14 y range
- 0,1 1 10 1Y,=18100y _1 10 "Y,=18100y
- -1 0 1, 2 log| -2 -1 0 1 2 _log(Y)
EE320-7A EE320-8A

EE320-7N




